

A NOTE ON THE GENERALIZED BERNSTEIN POLYNOMIALS

A. BAYAD, T. KIM, S. H. LEE AND D. V. DOLGY

Abstract. We prove two identities for multivariate Bernstein polynomials on simplex, which are considered on a pointwise. In this paper, we study good approximations of Bernstein polynomials for every continuous functions on simplex and the higher dimensional q -analogues of Bernstein polynomials on simplex.

1. Introduction and motivation

Recently many mathematicians study on the theory of multivariate Bernstein polynomials on simplex. This theory has many applications in different areas in mathematics and physics, see [1–17]. Throughout this paper we set $I = [0, 1]$ and $k \in \mathbb{N}$. Taking a k -dimensional simplex Δ_k :

$$\Delta_k = \{\vec{x} = (x_1, \dots, x_k) \in I^k : x_1 + \dots + x_k \leq 1\}.$$

As well-known, Bernstein polynomials (1) are the most important and interesting concrete operators on a space of continuous functions (see [15, 16]). The purpose of this paper is to study their generalization to k -dimensional simplex.

Definition 1. The n -th degree ordinary Bernstein polynomial $B_{v,n} : I \rightarrow \mathbb{R}$ is given by

$$(1) \quad B_{v,n}(x) = \binom{n}{v} x^v (1-x)^{n-v},$$

$v = 0, 1, \dots, n$. We extend this to

$$B_{v,n}^{\rightarrow} : \Delta_k \rightarrow \mathbb{R}$$

Received August 11, 2011. Accepted August 25, 2011.

2000 Mathematics Subject Classification. Primary: 60E05; Secondary: 62E17 62H99.

Key words and phrases. Simplex, Bernstein polynomials.

by taking \vec{v} to be a multi-index, $\vec{v} = (v_1, \dots, v_k) \in \mathbb{N}_0^k$, defining

$$|\vec{v}| := v_1 + \dots + v_k \in \{0, 1, \dots, n\}$$

and setting

$$(2) \quad B_{\vec{v},n}(\vec{x}) = \binom{n}{\vec{v}} \vec{x}^{\vec{v}} (1 - |\vec{x}|)^{n-|\vec{v}|},$$

where

$$\vec{x} = (x_1, \dots, x_k) \in \Delta_k, \vec{x}^{\vec{v}} = \prod_{i=1}^k x_i^{v_i}, \vec{v}! = v_1! \cdots v_k! \text{ and } \binom{n}{\vec{v}} = \frac{n!}{\vec{v}!(n - |\vec{v}|)!}.$$

For every f defined on Δ_k , we write

$$(3) \quad \mathbb{B}_n(f|\vec{x}) = \sum_{|\vec{v}| \leq n} f(\vec{v}/n) B_{\vec{v},n}(\vec{x}).$$

Here we have the convergence.

Proposition 1. *If $f : \Delta_k \rightarrow \mathbb{R}$ is continuous, then $\mathbb{B}_n(f|\cdot) \rightarrow f$ uniformly on Δ_k as $n \rightarrow \infty$.*

Proof. The proof of this proposition 1 is quite simple and is based on the partition property of the $B_{\vec{v},n}(\vec{x})$ that

$$\sum_{|\vec{v}| \leq n} B_{\vec{v},n}(\vec{x}) = 1.$$

This proof is similar to that Theorem 1.1.1 in [15, p.5–8]. Since f is uniformly continuous on Δ_k , for given $\epsilon > 0$, there exists $\delta > 0$ with the property that if $\vec{x} = (x_1, \dots, x_k)$, $\vec{y} = (y_1, \dots, y_k)$, and $|x_i - y_i| < \delta$ for all i , then $|f(\vec{x}) - f(\vec{y})| < \epsilon$. We define the distance on Δ_k by $d(\vec{x}, \vec{y}) = \max\{|x_1 - y_1|, \dots, |x_k - y_k|\}$. We suppose that n is sufficiently large that $\frac{1}{4n\delta^2} < \epsilon$. We have

$$|\mathbb{B}_n(f|\vec{x}) - f(\vec{x})| \leq \sum_{d(\frac{\vec{v}}{n}, \vec{x}) < \delta} |f(\frac{\vec{v}}{n}) - f(\vec{x})| B_{\vec{v},n}(\vec{x}) + \sum_{d(\frac{\vec{v}}{n}, \vec{x}) \geq \delta} |f(\frac{\vec{v}}{n}) - f(\vec{x})| B_{\vec{v},n}(\vec{x})$$

where $\vec{v} = (v_1, \dots, v_k)$, a multi-index. The first sum satisfies

$$\sum_{d(\frac{\vec{v}}{n}, \vec{x}) < \delta} |f(\frac{\vec{v}}{n}) - f(\vec{x})| B_{\vec{v},n}(\vec{x}) < \epsilon$$

by uniform continuity of f . Now we study the second sum. Let $M = \max f$. Then

$$\sum_{d\left(\frac{\vec{v}}{m}, \vec{x}\right) \geq \delta} |f\left(\frac{\vec{v}}{m}\right) - f(\vec{x})| B_{\vec{v},n}(\vec{x}) \leq 2M \sum_{d\left(\frac{\vec{v}}{n}, \vec{x}\right) \geq \delta} B_{\vec{v},n}(\vec{x}).$$

We see that

$$\sum_{d\left(\frac{\vec{v}}{n}, \vec{x}\right) \geq \delta} B_{\vec{v},n}(\vec{x}) < n\epsilon.$$

Thus $|\mathbb{B}_n(f|\vec{x}) - f(\vec{x})| < \epsilon + 2Mn\epsilon$, and we are done. \square

The generating functions of the k -dimensional Bernstein polynomials are as follows:

Proposition 2. For $n, v \in \mathbb{Z}_+$, we have

$$(4) \quad \sum_{n \geq |\vec{v}|} B_{\vec{v},n}(\vec{x}) \frac{t^n}{n!} = \frac{(t|\vec{x}|)^{\vec{v}}}{\vec{v}!} e^{t(1-|\vec{x}|)}.$$

Proof. Writing

$$(5) \quad \sum_{n \geq |\vec{v}|} B_{\vec{v},n}(\vec{x}) \frac{t^n}{n!} = \sum_{n \geq |\vec{v}|} \binom{n}{\vec{v}} \vec{x}^{\vec{v}} (1 - |\vec{x}|)^{n-|\vec{v}|} \frac{t^n}{n!}$$

$$(6) \quad = \sum_{n \geq |\vec{v}|} \frac{(t|\vec{x}|)^{\vec{v}}}{\vec{v}!} \frac{(1 - |\vec{x}|)^{n-|\vec{v}|} t^{n-|\vec{v}|}}{(n - |\vec{v}|)!}$$

$$(7) \quad = \frac{(t|\vec{x}|)^{\vec{v}}}{\vec{v}!} \sum_{m \geq 0} \frac{(1 - |\vec{x}|)^m t^m}{m!}.$$

This yields the equality

$$(8) \quad \sum_{n \geq |\vec{v}|} B_{\vec{v},n}(\vec{x}) \frac{t^n}{n!} = \frac{(t|\vec{x}|)^{\vec{v}}}{\vec{v}!} e^{t(1-|\vec{x}|)}.$$

\square

2. Main results and proofs

This section contains the main results of this paper. The first main result can be state as follows.

Theorem 1. For $n \in \mathbb{N}$, $m \in \mathbb{N}_0$ and $\vec{v} \in \mathbb{N}_0^k$ such that $m \leq \min(|\vec{v}|, n)$, we have the following identity

$$(9) \quad \sum_{\substack{\vec{u} \leq \vec{v} \\ |\vec{u}| \leq m}} \frac{\vec{u}!(m - |\vec{u}|)!}{m!} B_{\vec{u},m}(\vec{x}) B_{\vec{v}-\vec{u},n-m}(\vec{x}) = B_{\vec{v},n}(\vec{x}),$$

where $\vec{u} \leq \vec{v}$ means that $0 \leq u_i \leq v_i$ for all $i = 1, \dots, k$.

The formula (9) can be viewed as a pointwise recurrence or orthogonality formula for the Bernstein polynomials in k -dimensional simplex.

Remark 1. For $m = 1$, we obtain from Theorem 1 the following recurrence formula

$$(10) \quad (1 - |\vec{x}|) B_{\vec{v},n-1}(\vec{x}) + \sum_{\substack{|\vec{u}|=1 \\ \vec{u} \leq \vec{v}}} \vec{x}^{\vec{u}} B_{\vec{v}-\vec{u},n-1}(\vec{x}) = B_{\vec{v},n}(\vec{x})$$

Proof. We prove this theorem by induction on n and m . For $n = 0, 1$ the statement is trivial. Let $n \geq 2$ and let us take $m = 1$. Then the sum is given by

$$\begin{aligned} & \sum_{\substack{\vec{u} \leq \vec{v} \\ |\vec{u}| \leq m}} \frac{\vec{u}!(m - |\vec{u}|)!}{m!} B_{\vec{u},m}(\vec{x}) B_{\vec{v}-\vec{u},n-m}(\vec{x}) \\ &= B_{\vec{0},1}(\vec{x}) B_{\vec{v},n-1}(\vec{x}) + \sum_{\substack{\vec{u} \leq \vec{v} \\ |\vec{u}|=1}} B_{\vec{u},1}(\vec{x}) B_{\vec{v}-\vec{u},n-1}(\vec{x}) \\ &= (1 - |\vec{x}|) B_{\vec{v},n-1}(\vec{x}) + \sum_{\substack{|\vec{u}|=1 \\ \vec{u} \leq \vec{v}}} \vec{x}^{\vec{u}} B_{\vec{v}-\vec{u},n-1}(\vec{x}). \end{aligned}$$

By using the following fact $|\vec{u}| = 1$ if and only if one index of \vec{u} is 1 and all the others are zero, after simple manipulation, we obtain the

relation

$$(1 - |\vec{x}|)B_{\vec{v},n-1}(\vec{x}) + \sum_{\substack{|\vec{u}|=1 \\ \vec{u} \leq \vec{v}}} \vec{x}^{\vec{u}} B_{\vec{v}-\vec{u},n-1}(\vec{x}) = B_{\vec{v},n}(\vec{x}).$$

Then the Theorem 1 is valid for any n and $m = 1$. Now we suppose the theorem holds up to $n \geq m \geq 1$. We can write for $n + 1$ and $m = 1$ the following

$$B_{\vec{v},n+1}(\vec{x}) = \sum_{\substack{\vec{u} \leq \vec{v} \\ |\vec{u}| \leq 1}} \frac{\vec{u}!(1 - |\vec{u}|)!}{1!} B_{\vec{u},1}(\vec{x}) B_{\vec{v}-\vec{u},n}(\vec{x})$$

Then we get

$$(11) \quad B_{\vec{v},n+1}(\vec{x}) = \sum_{\substack{\vec{u} + \vec{v}' \leq \vec{v} \\ |\vec{u}| \leq 1}} B_{\vec{u},1}(\vec{x}) B_{\vec{v}-\vec{u},n}(\vec{x}),$$

by using the recurrence hypothesis, from (11), we obtain

$$\begin{aligned} B_{\vec{v},n+1}(\vec{x}) &= \sum_{\substack{\vec{u} \leq \vec{v} \\ |\vec{u}| \leq 1}} B_{\vec{u},1}(\vec{x}) \sum_{\substack{\vec{u}' \leq \vec{v}-\vec{u} \\ |\vec{u}'| \leq m}} \frac{\vec{u}'!(m - |\vec{u}'|)!}{m!} B_{\vec{u}',m}(\vec{x}) B_{\vec{v}-\vec{u}-\vec{u}',n-m}(\vec{x}) \\ &= \sum_{\substack{\vec{u} + \vec{u}' \leq \vec{v} \\ |\vec{u}| \leq 1, |\vec{u}'| \leq m}} \frac{\vec{u}'!(m - |\vec{u}'|)!}{m!} B_{\vec{u},1}(\vec{x}) B_{\vec{u}',m}(\vec{x}) B_{\vec{v}-\vec{u}-\vec{u}',n-m}(\vec{x}). \end{aligned}$$

Setting $\vec{w} = \vec{u} + \vec{u}'$. From the relation (2), we deduce the identity

$$B_{\vec{v},n+1}(\vec{x}) = \sum_{\substack{\vec{w} \leq \vec{v} \\ |\vec{w}| \leq m+1}} \frac{\vec{w}!(m+1 - |\vec{w}|)!}{(m+1)!} B_{\vec{w},m+1}(\vec{x}) B_{\vec{v}-\vec{w},n-m}(\vec{x}).$$

This completes the proof of the theorem. \square

For every $j, m, 1 \leq j \leq k, m \geq 1$, we define the affine transformations $T_{j,m}$ by

$$(12) \quad T_{j,m}(\vec{x}) = (x_1, \dots, x_{j-1}, m - |\vec{x}|, x_{j+1}, \dots, x_k).$$

and for every $\sigma \in \mathcal{S}_k$ permutation of the set $\{1, \dots, k\}$ we put

$$(13) \quad \sigma(\vec{x}) = (x_{\sigma(1)}, \dots, (x_{\sigma(k)}).$$

We state now the second main result of this paper.

Theorem 2. For $n \in \mathbb{N}$ and $\vec{v} \in \mathbb{N}_0^k$, we have the following identities

$$(14) \quad B_{\vec{v},n}(T_{j,1}(\vec{x})) = B_{T_{j,n}(\vec{v}),n}(\vec{x}),$$

and

$$(15) \quad B_{\vec{v},n}(\sigma(\vec{x})) = B_{\sigma^{-1}(\vec{v}),n}(\vec{x}).$$

The relation (14) is a multivariate symmetry formula for the Bernstein polynomials.

Remark 2. Taking $j = 1$ and $\sigma = (12)$ we get, from the Theorem 2, the symmetries relations

$$(16) \quad B_{\vec{v},n}(1 - |\vec{x}|, x_2, \dots, x_k) = B_{(n-|\vec{v}|, v_2, \dots, v_k),n}(\vec{x}),$$

and

$$(17) \quad B_{\vec{v},n}(x_2, x_1, x_3, \dots, x_k) = B_{(v_2, v_1, x_3, \dots, v_k),n}(\vec{x}).$$

Proof. By using the equalities (2) and (12) we have

$$\begin{aligned} B_{\vec{v},n}(T_{j,1}(\vec{x})) &= B_{\vec{v},n}(x_1, \dots, x_{j-1}, \dots, 1 - |\vec{x}|, x_{j+1}, \dots, x_k) \\ &= \binom{n}{\vec{v}} x_1^{v_1} \cdots x_{j-1}^{v_{j-1}} (1 - |\vec{x}|)^{v_j} x_{j+1} \cdots x_k^{v_k} x_j^{1-|\vec{v}|} \\ &= \binom{n}{\vec{v}} x_1^{v_1} \cdots x_{j-1}^{v_{j-1}} x_j^{n-|\vec{v}|} x_{j+1} \cdots x_k^{v_k} (1 - |\vec{x}|)^{v_j}. \end{aligned}$$

This implies, by using the relation (12), the identity

$$B_{\vec{v},n}(T_{j,1}(\vec{x})) = B_{T_{j,n}(\vec{v}),n}(\vec{x}).$$

The equality (15) of the Theorem 2 can be obtained in a similar way of (14). \square

3. q -extension of Bernstein polynomials on simplex

When one talks of q -extension, q is variously considered as an indeterminate, a complex number $q \in \mathbb{C}$, or p -adic number $q \in \mathbb{C}_p$. If $q \in \mathbb{C}$, then we always assume that $|q| < 1$. If $q \in \mathbb{C}_p$, we usually assume that $|1 - q|_p < 1$. Here, the symbol $|\cdot|_p$ stands for the p -adic absolute value on \mathbb{C}_p with $|p|_p \leq 1/p$. For each x , the q -basic numbers are defined by

$$[x]_q = \frac{1 - q^x}{1 - q}.$$

We extend this by

$$[\vec{x}]_q = ([x_1]_q, \dots, [x_k]_q)$$

and the q -extension of Bernstein polynomials on Δ_k is defined by

$$(18) \quad B_{\vec{v},n}(\vec{x} | q) = \binom{n}{\vec{v}} [\vec{x}]_q^{\vec{v}} [1 - [\vec{x}]_q]^{n-|\vec{v}|}.$$

Here again we have the q -extensions of Theorem 1 and Theorem 2.

Theorem 3. For $n \in \mathbb{N}, m \in \mathbb{N}_0$ and $\vec{v} \in \mathbb{N}_0^k$ such that $m \leq \min(|\vec{v}|, n)$. Then we have the following identity

$$\sum_{\substack{\vec{u} \leq \vec{v} \\ |\vec{u}| \leq m}} \frac{\vec{u}!(m - |\vec{u}|)!}{m!} B_{\vec{u},m}(\vec{x} | q) B_{\vec{v}-\vec{u},n-m}(\vec{x} | q) = B_{\vec{v},n}(\vec{x} | q),$$

where $\vec{u} \leq \vec{v}$ means that $0 \leq u_i \leq v_i$ for all $i = 1, \dots, k$.

Theorem 4. For $n \in \mathbb{N}$ and $\vec{v} \in \mathbb{N}_0^k$, we have the following identities

$$(19) \quad B_{\vec{v},n}(T_{j,1}(\vec{x}) | q) = B_{T_{j,n}(\vec{v}),n}(\vec{x} | q),$$

and

$$(20) \quad B_{\vec{v},n}(\sigma(\vec{x}) | q) = B_{\sigma^{-1}(\vec{v}),n}(\vec{x} | q).$$

The proofs of these theorems are quite similar to those of Theorems 1 and 2. Then we omit them.

References

- [1] U. Abel, Z. Li, *A new proof of an identity of Jetter and Stöckler for multivariate Bernstein polynomials*, *Computer Aided Geometric Design* **23** (2006), pp. 297-301.
- [2] A. Bayad, T. Kim, *Identities involving values of Bernstein, q -Bernoulli, and q -Euler polynomials*, *Russ. J. Math. Phys.* **18** (2011), pp.133-143.
- [3] C. Ding, F. Cao, *K -functionals and multivariate Bernstein polynomials*, *Journal of Approximation Theory* **155** (2008), pp.125-135.
- [4] Y. Y. Feng, J. Kozak, *Asymptotic expansion formula for Bernstein polynomials defined on a simplex*, *Constructive Approximation*, Volume 8, Number 1, (1992), pp. 49-58.
- [5] S. N. Bernstein, *Démonstration du théorème de Weierstrass fondée sur la calcul des probabilités*. Comm. Soc. Math. Charkow Sér. 2 t. 13, 1-2 (1912-1913).
- [6] L. Busé and R. Goldman, *Division algorithms for Bernstein polynomials*, *Computer Aided Geometric Design*, 25(9) (2008), 850-865.
- [7] R. Goldman, *An Integrated Introduction to Computer Graphics and Geometric Modeling*, *CRC Press, Taylor and Francis*, New York, 2009.

- [8] R. Goldman, *Pyramid Algorithms: A Dynamic Programming Approach to Curves and Surfaces for Geometric Modeling*, Morgan Kaufmann Publishers, Academic Press, San Diego, 2002.
- [9] R. Goldman, Identities for the Univariate and Bivariate Bernstein Basis Functions, *Graphics Gems V*, edited by Alan Paeth, Academic Press, (1995), 149-162.
- [10] K. Jetter, J. Stöckler, *An Identity for Multivariate Bernstein Polynomial*, *Computer Aided Geometric Design* **20** (2003), pp.563-577.
- [11] T. Kim, *A note on q -Bernstein polynomials*, *Russ. J. Math. Phys.* **18** (2011), pp. 73-82.
- [12] T. Kim, J. Choi, Y. H. Kim, C. S. Ryoo, *On the fermionic p -adic integral representation of Bernstein polynomials associated with Euler numbers and polynomials*, *J. Inequal. Appl.*, Art. ID 864247, 12 pages, 2010.
- [13] T. Kim, J. Choi, Y. H. Kim, *q -Bernstein polynomials associated with q -Stirling numbers and Carlitz's q -Bernoulli numbers*, *Abstr. Appl. Anal.*, Art. ID 150975, 11 pages, 2010.
- [14] T. Kim, J. Choi, Y. H. Kim, *A note on p -adic integrals associated with Bernstein and q -Bernstein polynomials*, *Advanced Studies in Contemporary Mathematics* **21** (2011), 131-138.
- [15] G. G. Lorentz, *Bernstein Polynomials, Second Ed.*, Chelsea, New York, N. Y., 1986.
- [16] G. M. Phillips, *Interpolation and approximation by polynomials*, CMS Books in Mathematics/ Ouvrages de Mathématiques de la SMC, 14. Springer-Verlag, New York, (2003).
- [17] Y. Simsek and M. Acikgoz, *A new generating function of $(q-)$ Bernstein-type polynomials and their interpolation function*, *Abstract and Applied Analysis*, Article ID 769095, 12 pages, 2010. doi:10.1155/2010/769095.

A. Bayad

Département de Mathématiques, Université d'Evry Val d'Essonne,
Bd. F. Mitterrand, 91025 Evry Cedex, France.
E-mail: abayad@maths.univ-evry.fr

T. Kim

Division of General Education, Kwangwoon University,
Seoul 139-701, Korea.
E-mail: tkkim@kw.ac.kr

S. H. Lee

Division of General Education, Kwangwoon University,

Seoul 139-701, Korea.

E-mail: dgekw2011@gmail.com

D. V. Dolgy

Institute of Mathematics and Computer Sciences , Far Eastern National
University,

Vladivostok 690060, Russia.

E-mail: *d_dol@mail.ru*